Fi26E5H188 (B)

=15 ENMERE

2 5 RUBHLE Y 7 KE# A1~ H| LAP |Secl|Sec2]| Sec3 | Secd|Sech|Sech|Sec/|Sec8|Total[Clean|

Lap1 2 0 0 0 0 5 0 0] 1 6

ME 1 1 1 0 0 0 2 of 5 4

1 HONDA RTL-F 20 1 0 0 0 0 1 0 0 2 6
128 4 1 1 0 0 6 2 0
0 2 2 3 3 1 2 3

9 S AEFLEY 7 K£ R4 H LAP [Secl|Sec2| Sec3 [Sec4|Sech]|Sech|Sec’|Sec8|Total|Clean

Lap1 0 0 2 5 1 2 0 1 11 3

NEE= Lap2 0 0 3 0 3 0 3 1 10 4

1 14 HONDA RTL-F 20 || Lap3 0 5 1 0 0 0 0 1 i 5
KRB 0 5 6 5 4 2 3 3
3 2 0 2 1 2 2 0

Lap1 1 1 3 3 3 3 1 o 15 1

EERIEZ Lap2 5 0 5 1 5 0 0 of 16 4

2 24 HONDA RTL-F 17 | Lap3 5 0 2 0 1 0 0 0 8 5
KRB 11 1 10 4 9 3 1 0
0 2 0 1 0 2 2 3

Lap1 5 2 3 1 3 5 0 0 19 2

BH K Lap?2 3 1 3 0 2 1 0 1 11 2

3 30 [FUTURE TRIAL| 15 | Lap3 1 5 5 0 0 1 0 3 15 3
KRB 9 8 11 1 5 7 0 4
0 0 0 2 1 0 3 1

Lap1 5 0 3 0 5 5 0 1 19 3

R % Lap?2 1 0 3 0 3 1 3 5 16 2

4 13 HONDA RTL-F 13 | Lap3 5 1 3 0 2 5 5 0 21 2
KRB 11 1 9 0] 107 11 8 6
0 2 0 3 0 0 1 1
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NBY S X

2 S AUBELEY 7 K& A4~ H| LAP |Secl|Sec2]| Sec3 | Secd|Sech|Sec6|Sec/|Sec8|Total[Clean|

Lap1 3 1 1 5 0 0 0 0 10 4

Fk Bz Lap?2 1 0 0 0 0 0 0 3 4 6

1 HONDA RTL-F 20 || Lap3 0 0 0 1 0 0 0 2 3 6
RNE 4 1 1 6 0 0 0 5
1 2 2 1 3 3 3 1

Lap1 0 0 3 1 0 0 0 2 6 5

RA EHE Lap?2 1 0 0 0 0 3 0 3 7 5

2 HONDA RTL 17 || Lap3 1 0 0 5 0 0 0 3 9 5
RKHE 2 0 3 6 0 3 0 8
1 3 2 1 3 2 3 0

Lap1 5 1 3 2 5 1 3 3 23 0

Tk XA Lap?2 1 3 0 2 0 0 0 1 7 4

3 GASGAS TXTPRO| 15 |f Lap3 2 0 0 2 0 0 0 1 5 5
RHE 8 4 3 6 5 1 3 5
0 1 2 0 2 2 2 0

Lap1 3 0 3 1 3 3 0 1 14 2

B 1EX Lap?2 3 1 2 0 0 5 0 2 13 3

NB 4 HONDA RTL 13 || Lap3 5 0 1 2 1 0 0 5 14 3
RHE 11 1 6 3 4 8 0 8
0 2 0 1 1 1 3 0

Lap1 5 0 2 2 1 0 0 5 15 3

Fo I i Lap?2 5 5 0 2 2 0 5 5 24 2

5 HONDA RTL 1 Lap3 5 5 0 0 5 0 0 3 18 4
RHE 15 10 2 4 8 0 5 13
0 1 2 1 0 3 2 0

Lap1 5 2 3 1 2 3 2 3 21 0

T #A Lap?2 5 5 3 2 1 5 0 3 24 1

6 SHERC02. 5 10 || Lap3 3 5 3 0 0 0 1 3 15 3
RHE 13 12 9 3 3 8 3 9
0 0 0 1 1 1 1 0

Lap1 5 5 3 3 3 3 3 3 28 0

B Lap2| 3] 3 3] O 2 8 5[ 3 22 1

7 TXTPRO300 9 Lap3 3 5 3 2 5 0 3 3 24 1
11 13 9 5 10 6 11 9

N

“ of o o 1 o 1 o OF-

9 S AEFLEY 7 K% K4 > N LAP |Secl|Sec2| Sec3 [Sec4|Sech|Sec6|Sec7]|Sec8|Total[Clean

Lap1 0 2 3 0 2 3 1 1 12 2

B0 E— Lap?2 0 1 0 2 1 3 1 3 11 2

1 SHERCO2. 5 20 || Lap3 0 3 3 1 1 3 0 1 12 2
KRB 0 6 6 3 4 9 2 5
3 0 1 1 0 0 1 0

Lap1 0 5 3 3 3 5 3 1 23 1

EE TR Lap?2 1 2 3 3 0 2 5 3 19 1

2 HONDA RTL 17 | Lap3 0 2 1 3 © 1 3 2 17 1
RERIE 1 9 7 9 8 8 11 6
2 0 0 0 1 0 0 0




